N = 0l & At & M A

20138 & =04k A==E ALY SEIH A
AN dot=SAFE A
M AT 2
S NYALE AL BH(MLEMY SEEH) CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Aot S ALY A 2,962,919 3,547,530 A 584,611
a5 2t 2,438,509 3,044,693 A 606,184
ANgat+E Al U (&S A SE3H) 2,438,509 3,044,693 A 606,184
ANLa=E MRSF=I3A 35,000 35,000 0
401 AIEHI L 20 35,000 35,000 0
01 A& HI 34,622 34,622 0
OXNgax=E Args SA 34,622,000 34,622
03 AlE SR THHI 378 378 0
ONYH£E dRB% BM
35,000,000% *1.08/100 378
g2s S=SUM MY 250,000 1,070,000 A 820,000
401 Al HIZ 201 I 250,000 1,070,000 A 820,000
01 A& HI 247,660 1,061,576 A 813,916
Os2s 2=2UH A 99, 100, 000& 99,100
OXga=E SSAHEI WA 99, 100, 000& 99,100
O&XAHSI A 49,460,000 49,460
03 A& S THHI 2,340 8,424 A6,084
O%=2s S=UH A
100,000,000 *0.90/100 900
OXNgax=E SSAHSI wiHl
100,000, 000& *0.90/100 900
O&XAHEI WA 50,000,000 =1.08/100 540
SaE HH| 500,000 500,000 0
401 AIEHI L 2 CHYI 500,000 500,000 0
01 A& HI 496,400 496,400 0
ONga=E 52 WX 3A 496,400,000 496,400
03 Al 2 THHI 3,600 3,600 0
OXNgaxE =52 WH3A
500,000,000% *0.72/100 3,600
=& 22 899,121 829, 343 69,778
101 @14 dl 4,666 4,188 478
04 JIZHHZ2XRHEE S 4,666 4,188 478
OB+HEMA X L OUX HA ol
38,880& x10H ~12 4,666
201 Let49] 731,325 731,325 0
01 At 22l 159,975 159,975 0
Oget=gH| 33,500
—dotx=Ee3a DM ME
70,0003 60 A 4,200
—DAANLESE & A28 7
1,075,000& 4= J| 4,300
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A dot=Z A A
HE: M4E el
¢hel: e+ Ald Ul (4=ZAY SE3H) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
T E Y (BLEHACY 4F)
10,000, 000& »23] 20,000
—SIAANY A L HE PY
30,000,000& 30,000
—=ZIAME HEH P2 3,100,000& 3,100
— & =& 28 A 9,000, 000& 9,000
~NE+EETFI L2E 2
1,000,000& *43] x50 A 20,000
301 g2 4= 1,930 1,930 0
10 #AtAHIE A3 1,930 1,930 0
OMSE 2TAAN 220 BHDL
0,000& «4H «12& 1,440
OgdZ =2 EIIRJs A}
70,000& +7H 490
401 Al I 28I 50,000 0 50,000
01 A& HI 49,460 0 49,460
OXNgax=E 37 SR 2el 49,460,000 49,460
03 Al =2 THHI 540 0 540
OoXga=t =& KA 2l
50,000, 000& *1.08/100 540
403 MtXISHHE X201 E 5,300 0 5,300
02 BJ| &S 0fl CH &HCH & AF HI 5,300 0 5,300
OXNEISIY UASIAHAAE S 2el
5,300,000 5,300
405 RHoHE S HI 20,000 20,000 0
01 et EFFHSHI 20,000 20,000 0
O=Z3AEH 2 & E= 20,000, 000& 20,000
=% =X 2cl 655,000 500,000 155,000
401 AIEBIZ 28I 655,000 500,000 155,000
01 A& HI 650,644 497,120 153,524
OF+& 250X GAFR A (3D])
75,000,000 75,000
OJIorE =& & ALKl OIAHOIE &X
99,280,000 99,280
OXNSASEHSZ J=dc B2AY
148,920,000 148,920
OJNOoFE =& M2H=2 LA
277,984,000 277,984
OXga=t = O AIAY
49,460,000 49,460
03 Al =2 THHI 4,356 2,880 1,476
OOt =& ALKl OHAOIE &XI
100,000,000 *0.72/100 720




AN dot=SAFE A
HE: M4E el
SOl NYHAT NS HO(4STAY SBEH) (ol @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ONSH+CHLE )2 B
150,000,000& *0.72/100 1,080
OJNOoFE =& M2H=3 LA
280,000,000& *0.72/100 2,016
OXNga=E =& LS EXAEY
50,000, 000% *1.08/100 540
ol (&a<) 99,388 110,350 A 10,962
801 Gl HIHI 99,388 110,350 A 10,962
01 ollglsl 99,388 110,350 A 10,962
oaolgltl 99,388,000 99,388
HE2AZH (Aot=Z At L) 301,769 264,162 37,607
olEAIH(A+T ALY SE3H) 301,769 264,162 37,607
ol 2AH| 301,769 264,162 37,607
101 144 Hl 301,769 264,162 37,607
03 RIAHAZZ2 T2+ 301,769 264,162 37,607
oJles 1,237,260 x 128 «12& 178,166
O3 130,000 x6&H «12& 9,360
OF U= 1,237,260& x12H x500% 74,236
OgmaRLY
(1,237,260 /226)*1.5%12E »10Al 2t* 1204 & 11,826
OS2 &l
(1,237,260 /226) *8Al 21224 » 18 9,461
O= &l 80,000& 12 128 11,520
OunsL2 =l 50,000 =12 « 123 7,200
HREs (Aot AE L) 222,641 238,675 A 16,034
BEIE (AT AIY SH3IA) 222,641 238,675 A 16,034
e = akE 222,641 238,675 A 16,034
311 Xt S0l At af & 43,441 59,475 A 16,034
06 JIEFXHS 3 Ol AH&f & 43,441 59,475 A 16,034
OXNgax=ZAIZMHE Ol Xta e
10,860,250& *4& | 43,441
601 XL S =4 179,200 179,200 0
06 JIEt =AY ==& 179,200 179,200 0
OXNga=C AL FS34E 179,200,000 179,200




